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Table 1 Test Case Identification
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Test case identifier

Input specification

Output specification

DWS.STC.000.000 Z203 M 01-01 00:00:00
DWS.STC.000.001 01-01 00:00:59, 1= X|& 01-01 00:01:00
DWS.STC.000.002 01-01 00:59:59, 1= X|&f 01-01 01:00:00
DWS.STC.000.003 01-01 11:59:59 pm, 1= X|& 01-02 00:00:00
DWS.STC.000.004 01-01 12:00:00 PM indicator on
DWS.STC.000.005 2012 02-28 11:59:59 pm, 1 X|& 2012 02-29 00:00:00
DWS.STC.000.006 2013 02-28 11:59:59 pm, 1= K| 2013 03-01 00:00:00
DWS.STC.001.000 a 01-01 00:00:00
DWS.STC.001.001 a; a 01-01 00:00:00
DWS.STC.001.002 a; C 01-01 00:00:00
DWS.STC.001.003 aGc 01-01 00:00:00
DWS.STC.001.004 a,GGcC 2012 01-01 00:00:00
DWS.STC.001.005 a,GCGGcC 01-01 00:00:00
DWS.STC.001.006 acGeGec 01-01 00:00:00
DWS.STC.001.007 a,CCCCGCC 01-01 00:00:00
DWS.STC.001.008 00:--:--, a; ¢ b 01:----- ( -- means don't care)
DWS.STC.001.009 11:---- pm, a; c; b 00:--:--
DWS.STC.001.010 --00:--, &, ¢ ¢ b --:01:--
DWS.STC.001.011 --59:--, a;¢cb --:00:--
DWS.STC.001.012 2012, a8, ¢ ¢ b 2013
DWS.STC.001.013 2099 a;cccb 2012
DWS.STC.001.014 01-01 ---=--, 3, G GG Gb 02-01 --:--:--
DWS.STC.001.015 12-01 == a,GGcGGb 01-01 --:--:--
DWS.STC.001.016 01-01 ---=--, &G GcGGGb 01-02 --:--:--
DWS.STC.001.017 01-31 ——---, a8, GG CGGCGb 01-01 --:--:--
DWS.STC.002.000 C Stopwatch mode
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DWS.STC.002.001 G C Timekeeping mode

DWS.STC.003.000 (Stopwatch mode0j|A) b 00:00 00:00:00 — 1/100% GCHRIZ AlZt &5F
DWS.STC.004.000 (Stopwatch modeOf| A A|Z £ &) b 00:00 ?2:72:2? — A|ZF H=

DWS.STC.004.001 (Stopwatch mode®| M A[ZH =7 F) b; b; HHE AZHM ASSH M AlZto] 5F
DWS.STC.005.000 (Stopwatch modeOf| A A|ZF HEE [ff) a 00:00 00:00:00

DWS.STC.006.000 (Stopwatch modeOf|A| A|ZF = &) a 00:00 ?2:22:2?2 — S| A|ZH0] HEA|E

DWS.STC.007.000 (TK mode0j|A{) d - EX MoZ XIE HA|
DWS.STC.007.001 (Stopwatch modeOf|A{) d

DWS.STC.008.000 (Stopwatch modeOfjA| AjZt 5 &) GcC 00:00 ??2:22:27 - A|ZF =F0| O|AF 9io| Flsz|1 QU=X| =0l




Table 2 Test Design Identification
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Identifier Feature Valid/ Invalid value

DWS.STC.000 AlZt =0l AIEEDE SAI0 2HH BEA|, ZOighs FO{Z M AlZE ALk 2EA

DWS.STC.001 A7t A TK modeOjM ag2] A7t A JISSIEE 8™ = b, 2 0|83) {dt= Al
oz HY

DWS.STC.002 Mode HHZ Mol SFHOAM c HE 2|

DWS.STC.003 Stopwatch A|&t Stopwatch modeOj| A bE2] A|Zf 20l

DWS.STC.004 Stopwatch H= StopwatchQ| A|Zt0| E™E|l= F7H0| b2 HE =0l

DWS.STC.005 Stopwatch reset StopwatchQ| A|7t0| HE QS O, a2 reset=tQl

DWS.STC.006 Stopwatch lap time Z}Ql StopwatchQ| A|Zt0| E™ &= F7H0| as2{ lap time =@l

DWS.STC.007 Zt mode0|A| backlight A4 d=12{ backlight =20l

DWS.STC.008 Stopwatch =3 & Mode HZA Stopwatch modeQj A b=2] A|Ef 20l Z, cE2] mode BHZAS 29l




Table 3 Result Identification of the System Test
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Identifier PASS/ FAIL
DWS.STC.000.000 PASS
DWS.STC.000.001 PASS
DWS.STC.000.002 PASS
DWS.STC.000.003 PASS
DWS.STC.000.004 PASS
DWS.STC.000.005 PASS
DWS.STC.000.006 PASS
DWS.STC.001.000 PASS
DWS.STC.001.001 PASS
DWS.STC.001.002 PASS
DWS.STC.001.003 PASS
DWS.STC.001.004 PASS
DWS.STC.001.005 PASS
DWS.STC.001.006 PASS
DWS.STC.001.007 PASS
DWS.STC.001.008 PASS
DWS.STC.001.009 PASS
DWS.STC.001.010 PASS
DWS.STC.001.011 PASS
DWS.STC.001.012 PASS
DWS.STC.001.013 PASS
DWS.STC.001.014 PASS
DWS.STC.001.015 PASS
DWS.STC.001.016 PASS
DWS.STC.001.017 PASS
DWS.STC.002.000 PASS
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DWS.STC.002.001 PASS
DWS.STC.003.000 PASS
DWS.STC.004.000 PASS
DWS.STC.004.001 PASS
DWS.STC.005.000 PASS
DWS.STC.006.000 PASS
DWS.STC.007.000 PASS
DWS.STC.007.001 PASS
DWS.STC.008.000 FAIL

43 Comment

Al mUS AMEMA|F system testE FlSHEFH AL CH

StopwatchO|A] A|ZH Y-S HEX| @O H mode7} timekeeping@ 2 B BHE|X|




